EIBENSTOCK

Elektrowerkzeuge

Ersatzteilliste

4

EDB 480.1

Anderungen vorbehalten!
266

03/21




06644000

Pos. Description

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19

A A W W W WWWWWWWDNDDNDDDDNDDDMNDNDDNDND
= O © 0O N O g A WON =2 0 © 0o 6 b WO N - O

Cap

Screw 4,8x45

Rotor, compl. 230V

Motor housing

Brush holder, compl.

Spring washer 4

Screw M4x12

Carbon brush 6,3x16x20
Stator, compl. 230V

Air guiding ring

Retaining ring 28x1,2
Grooved ball bearing 6001 2RS
Retaining ring 11x1

End shield of housing

Screw 5,5x25

Bearing cap

Pair of handle halves

Switch

Capacitor

Screw 4,2x13

Wire locking flange

Foam filler

Cable grommet

Connecting cable 2x1mm? 3m
Screw 4,2x16

Screw 4,8x22

Gearbox housing set

Screw M4x16

Grooved ball bearing 608 2Z
Grooved ball bearing 6000 2Z
Screw M6x10

Wheel

Flange

Needle bearing K 6x9x8
Bushing

Guide back, compl.

Slider

Guide front, compl.
Getro-cylinder bearing 1010
Threaded pin M8x16

Iltem No.
80900082
80201267
76641100
80901013
80201199
80201385
80201180
80700019
76644150
80900160
80201333
80410032
80201320
7664461U
80201290
83000031
76643268
80600158
80500010
80201270
85000020
80600306
83000004
80600060
80201271
80201280
7664440B
80201131
80410011
80410021
80201107
76641430
76641410
80420170
76641435
7664465U
76644650
76644655
80420243
80200754

EDB 480.1 - 230V

pc.

2SN 22 NN 2,2 NN 2NN DWW, DN D O DD NN N D DN A D AN DEDEINND A DDA

Pos. Description

43
44
49
50
51
52
53
54
55
56
57
58
59
60
62

Parallel pin 6x16
Screw M6x12

Screw M8x14

Bow handle

Rubber handle

Sword, compl.

Parallel pin 5x12
Scraper

Screw M6x20

Nut M6

Saw blade adapter, right
Saw blade adapter, left
Blade protection
Spanner SW 5

Gearbox seal

Version:

Dated:

Item No.
80200790
80201119
80200789
76641590
83000006
76643670
80200574
83000234
80201124
80201032
7664364R
7664364L
80900250
80430047
82000440

01
19.12.2022
pc.

2
3
1
1
1
1
2
2
2
2
1
1
1
1
1

page 1 of 1



